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Please make sure that the printed pages in this question paper are 16 in number
and it contains 14 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T AT To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U o7 # FAT 37 § {d ' GARTGT &Y T [ J97-99 {7 T @& & GO F IIT 54
T 7 g o qar w&hH T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :

(i)
(&)
(i)
(iv)
)
(vi)

(vid)

All questions are compulsory.
Marks for questions are indicated against each.

Question No. 1 is divided into forty (40) objective type questions (multiple
choice, true-false, fill in the blank and correct match). Each question carries 1
mark.

Question Nos. 2 to 6 are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

Question Nos. 7 to 11 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

Question Nos. 12 to 14 are long answer type questions carrying 5 marks
each. Answer to these should normally not exceed 130 words each.

Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(viit) Word limit is not applicable to formulae, numerical and diagrammatical

questions.
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(Objective Type Questions)

1. @& Q%Y giag -
Choose the correct alternatives :

(1) =g & fasaadEd & &9 § g 9 | WY & 8 7 1
(A) &Sl B AHR W
(B) SFTUThI e SRET WX
(C) =amaef @t fafr
(D) IYUH Il W

Reliability of sampling data depends on :
(A) Size of sample
(B) Training of enumerators

(C) Method of sampling
(D) All of the above
(2) N Ied B Th TR © 1
(A) HfesER
(B) =gdF
(C) = (A) T (B)

(D) FH & &5 Tl
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Following is a kind of partition value :
(A) Median
(B) Quartile
(C) Both (A) and (B)

(D) None of these

(3) Hel GRI @b Bl T B A HHRA 8 ’
(A) | H & EN
(B) ‘| e’ fafy &
(C) &I (A) T (B) &R

(D) TH | HE &

Construction of a cumulative frequency curve will be done by :
(A) 'Less than' method

(B) 'More than' method

(C) Both (A) and (B)

(D) None of these

(4) omgHaE @ fafy g Aifee w9 @ e Sifke FEA © 1
(A) T SRS
(B) fadii oiiwg
(C) e g

(D) ST & & &1 7@l

1511
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Data originally collected by the process of the investigation are known as :
(A) Primary data
(B) Secondary data
(C) Tertiary data

(D) None of the above

(5) oNUFRREG e & T, R & SHiHE @R o 1
(A) S= S X
(B) S Ig X
(C) T= g W
(D) IYCRT Gl
During colonial period, India's demographic feature is/are :
(A) High birth rate
(B) High death rate
(C) High infant rate
(D) All of the above
(6) Te= TEEErY & AT H, TEHEE O (1) BN 1

(A) 0<r<0.25
(B) 0.25 < r<0.50
(C) 0.50 < r<0.75

(D) 0.75<r

P.T.O.
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In case of high degree of correlation, correlation coefficient (r) will be :
(A) 0<r<0.25
(B) 0.25<r<0.50

(C) 0.50 < r<0.75

(D) 0.75<r

(7) N T H T e 1
(A) RS I
(B) &= T

(C) Py Tew T wiafEr

(D) SR |l

Main sources of Agricultural Credit are :
(A) Commercial Banks

(B) Regional Rural Banks

(C) Agricultural Cooperative Credit Societies

(D) All of the above

1511
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(8)

(9)

(7)
T &5 H HHET Th IUE O

(A) ST
(B) SERIHIT &
(C) IAENHTT Hl
(D) & @ &g T

'Contraction of Public Sector' is a measure of :

(A) Privatisation

(B) Liberalisation

(C) Globalisation

(D) None of these

e & § E W gl SReem 8/%

() STENREE SRS
(B) R aorm
(C) SYeRT &l

(D) & @ &g T

1511
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Type of Urban Unemployment is/are :
(A) Industrial Unemployment

(B) Educated Unemployment

(C) Both of the above

(D) None of these

(10) 9RO faeprg @ gfaures g Rare & fear @ ? 1
(A) R T
(B) STEX & FIAX
(C) |9 T oS
(D) SawuH=<
The concept of sustainable development is stated in which report ?
(A) Our World
(B) Our Common Future
(C) Save the World

(D) Development

1511
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State whether the following statements are true or false :

1511

(11)

(12)

(13)

(14)

(15)

(16)

fade slfee Afds B 2

Secondary datas are original.

ST &g ARG ¥ Sicest i s&@eT @ S B

In India, census is done by sample method.

el & arel § weffa e o gear 2

Datas can be shown by Table.

AR AT §d & B G )?:zTX 2l

2 X

Formulae to calculate arithmetic mean is X = N

Heqg oli% & Ied FOMHS el el ol

Value of correlation coefficient can't be negative.

W&l GIgt & AT 3 g e ITRE B

Sustainable Development accounts for welfare of future generation.

1511
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(17) U SUSTIR B IASFIR 78 9T Sl 2l

1511

Voluntary unemployed is not considered as unemployed.

(18) 7 oni¥& fifd 24 JaE, 1991 & AN H &I

New Economic Policy executed from 24 July, 1991.

(19) SIDBI %, @Y JEM H FOT T HIAl 8|

SIDBI Bank issues loan to the small industries.

(20) fag= S=c @ oTfi® Hgfe & AT S B

Economic Growth is measured by Genuine Savings.

Rar & 7 -

Fill in the blanks :

(21) Tl STIHE STURHT .o W fafy B

Direct Investigation Method is comparatively ............

(22) TRON & TH AT AT covven 2|

.............. is a necessary part of table.

1511

(/1) 1
dearer method.

(less/more)

(S /Rom) 1

(Heading/Diagram)

(e /i)

(Mean/Median)
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(24) woeerernn , SRSt @ G aUET W § aredr ¥ (g /aemE) 1
.............. divided the datas in four equal parts. (Quartile/Decile)
(25) erernnnns 7 ol FewrERy o 1 T R (et e/ efesds)

.............. construct the rank correlation coefficient.

(Karl Pearson/Spearman)

(26) BH wevvrrennnnnnns 8% & guiad o o A A o (Fy/dm)
We includes .............. sector in tertiary sector. (Agriculture/Insurance)
(27) 78 omfde A H oooeeeennnn I A fRe ST 21 (FFrofiereer/gam)
.............. is included in New Economic Policy. (Privatisation/Elections)
(28) ArgHl AT GHFED: oo T U S B (FRy/em)

Normally seasonal unemployment exists in .............. .

(Agriculture/Industries)
(29) oTfee foepra e gl b § ORI .ooeeveennnnnn ST s (9mEn/AE uEn) A

There exist .............. in economic development and sustainable

development. (Difference /No Difference)

(30) RA & GEad AN ..o q 0 T (1950/1951) 1

In India, five year plans starts from .............. . (1950/1951)

P.T.O.



e} PrerrT & (797 FEr 31 & 40)

Correctly match the following (Q. No. 31 to 40) :
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(31)

(32)

(33)

(34)

(35)

(36)

(37)

WA %l Uedll SR i

First industrial policy of India

fesToT 5

Partition Value

TR sfed

Mathematical Average

g o

Correlation Coefficient

MRTP UF § g

Liberalising MRTP Act

Tehsal

Consolidation of Land Holdings

HY G

Agricultural Credit

(2)

(b)

(©)

(d)

()

(H

(8)

1511

10x1=10

ferefear & @

Measure of Poverty

SIREAER

Economic Activity

RHIETU

Liberalisation

ESRRED

Quartile

1948

YA {1

Arithmetic Mean

CISHRREE

Karl Pearson
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(38) fas (h) 9% gar
Investment Land Reforms
(39) T S ARW (i) &g Fmer S
Simple Bar Diagram Regional Rural Banks
(40) A HUETS () ket P REE TEIN
Calorie Norms Diagramatic Presentation of Data
(HfRy-crgeTs Se)

(Very Short Answer Type Questions)

2. 7gfees /g ey ffy & omg &1 o § 7 2

What do you mean by Random Sampling Method ?

3. HewE T H @ AW SaEy 2

State any two features of Correlation Coefficient.

4. A H GHY ARG STefeden 7§ HY & Ry @ @89 F 9o ] 2
Explain in brief, the state of agriculture in Indian economy at the time of
independence.

5. ffaRad THel § TR A S BT 2
I (5 ) 10000 20000 30000 40000 50000
gl Hl GE& 4 5 3 2 9

1511 P. T. O.



8.

Calculate the arithmetic mean from following data :

(14)

1511

Income (Rs.) 10000 20000 30000 40000 50000
No. of Persons 4 5 3 2 9
ARG | e & @3 @ RN B e H 2
State any two reasons of poverty in India.
(T 9)
(Short Answer Type Questions)
7. TH B TGN & eI Al A Bl 3
Explain the characteristics of a Good Classification.
TR HIfeTT 1x3=3
(i) TR a8 e
(i) omad =
(iii) SBYS

1511

Define the following :
(i) Multiple Bar Diagram
(ii) Histogram

(iii) Polygon



10.

11.

12.

13.
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(15) 1511
S /5, HIieHH TA7 =g I TR B 1x3=3

Define Mode, Median and Quartile.

PN G & 7 R ONdl S A B 3
Explain any three institutional sources of Agricultural Credit.
gl o der i e & Rl dflr ol &l @ #1 3
Explain any three differences between economic development and sustainable
development.
(e SR )
(Long Answer Type Questions)

AT H Geadia Qsrett & ey 33398 SarRul 5
State the long-term objectives of Five Year Plans in India.

AYAT

OR
WA R @ g g Sudtedr ARy 5
State any four achievements of Indian Planning.
SR % ST § 1 AR ¢ ¢ 3% g U aaRu 1+4=5
What is meant by Liberalisation of the economy ? Explain its main measures.

AYAT

OR
s GaRE & 1 S B P SNt garl @ oTasEEd #i gy ! 1+4=5

What is meant by Economic Reforms ? Why the need of Economic Reforms

occurs ?

P.T.O.
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14. XA 9 95 g3 SO & RN P g0 i) 5
Explain the causes of increasing unemployment in India.
AYAT
OR
Fret 1 @iy & areT X 2i2i1-5
(i) o & WA Ad & & I
(i) dr g3 S

1511

(iii) SRS T H GRATT

Explain the following in brief :

(i) Two examples of conventional source of energy
(ii) Disguised Unemployment

(iii) Definition of Basic Infrastructure



